Score: T & e e
Operations with Integers

Perform the given operations with integers.
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4. (-29) = (-5) = __ 5. 12 -(-63) = 6. (-25)+ (1) =
0D b 8x3s o (B

0. -1)-9=_ n (-49) = (-N=_ 12 24+ (-3)=

3. (-6)+6=__ 4. (-9) x (-5)= 5. 7-(5)=

6. (-4) ~(-2)= 7. (N -CN= 8. 9-(-2)=

9. T=-{9N=- 20. 1+ (-6) = 22+ (2=
522.4+(-4)=_ 23. b-tbt= 2. 2+ (-h) =

25. (-15) + (-3) = 26. (-6) + (-9) = 27 (-32) + b=

28. () M= 29. 8 x (-1)= 0. (N + (9=
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Operations with Integers

Answers

1 6+(-1)= 5 2. 6% (-2)= -12 3. (-3)+(-2)= -5
4. (-25) + (-5) = 5 5. 12-(-63)= 175 6. (-25) + (-77) = -102
0 (D=_ 2 8 BX3= 2 S
0. (-7)-9= -16 mo(49) = (- = 7 12 24+ (-3)= -8
13. (-6)+6= 0 14. (-9) x (-5) = 45 5. 7-(-5= 12
6. (-4) +(-2) = 2 7. (-7 -(-T)= 0 18, 9-(-2)= 11
9. 7-(9)= 16 20. 1+ (-6) = -5 21 12+ (-2) = -6
522.4+(-4)=i 23. 4-4= 0 24. 24 = (-4) = -6
25. (-15) =+ (-3) = _5 26. (-6) + (-9) = -15 27. (-32) + 4= -8
28. (-7) x 7= -49 29. 8 x (-7) = -56 30. (-7) + (-9) = -16

31 (K1) -8= -19 32. 8+ (-2) = -4 33. 21- (-3) = _24
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